L : numbers as lmproper fractlons Then, invert ‘the dl\nsor

L Dlvrde a. mlxed number by a mlxed number by flrst rewrltlng both mixed

D|V|de 4 —21 Rewrlte the mixed numbers lZ 17_
L U s improper fractions. CA T8
- Invert the divisorand .~ = .17 o B
- _:'_:'-change the opera‘taon 5|gn AT
5 -_:-__.Cancel and multlp!y Eh ﬂ/.-x_-_ﬂ:“f“ 7= 2
Divide. Reduce your answer to lowest terms, if possible.
1. 31:41= 2. 2 :12= 3. 75:32=
g4, 22:+4%= 5. 73+5;= 6. 1%+35=
7. 13 :33= 8. 52:43= 9. 11+32=
10. 25+ 45 = 11. 4%2:3}= 12, 72:13=
13. 3% +8;= 14. 50+ 65 = 15. 103+ 12
16. 4% +3%= 17. 123+ 1% = 18. 111:10Z
19. 95+ 1275 = 20. 11Z+105= 21. 133+33=
Solve.

22. Andrea is training for a walk-a-thon in town. She can currently
walk 4% miles per hour. How long will it take for her to walk
7 mﬂes?

hours

4+ miles per hour =

7 miles +




Directions: Choose the one best answer to
cach item. Circle the number of the correct
answer.

Z3.

24.

25.

26,

e (.5.)

Deanna and Jim can bike at a pace of
152 miles per hour. How long will it take
them to travel 502 miles?

(1) 2% hours
(2) 3% hours
(3) 32 hours
(4) 4 hours

&) 4% hours

If Jim and Deanna increase their pace by
3 mile per hour, what will their pace be?
How many hours a day will they ride in
order to travel 100 miles per day?

(1) 12% mph; about 8 hours
(2) 182 mph; about 51 hours
(3) 12% mph; about 8% hours
(4) 182 mph; about 5% hours
(5) 20 mph; about 5 hours

If I can walk at a pace of 35 miles per
hour, how long will it take me to walk
115 miles?

(1) 3 hours
(2) 3% hours
(3) 4 hours
4) 4% hours
(5) 4% hours

If T increase my pace by % mile per hour,
how many miles per hour can I now walk?

(1) 4 miles per hour
(2) 43 miles per hour
(3) 41 miles per hour

(4) 32 miles per hour

4 miles per hour

Z7.

A local artist takes approximately

132 hours to complete a portrait. He
worked on one portrait for 53 days. How
many hours per day did he devote to this
one portrait?

(1) 1 hour per day
(2) 13 hours per day
(3) 25 hours per day
(4) 33 hours per day
(5) 4 hours per day

28. Joel buys 83 pounds of pasta salad for

29,

30.

a family picnic. He wants to put the
salad in small containers that each hold

12 pound. How many. containers will
he use?

(1) 8 containers

(2) 7 containers

(3) 6 containers

{4) 5 containers

(5) 4 containers

If Rhonda walks at a pace of Z% miles per
hour, how long will it take her to walk
101 miles?

(1) 4 hours
(2) 4% hours
3) 4% hours
(4) 4% hours
(5) 5 hours

There are 24% pounds of coffee beans in a
barrel at the gourmet shop. The clerk
needs to make up packages of coffee
weighing 1% pounds each. How many full
packages can the clerk make?

(1) 24 packages with some leftover
(2) 75 packages with some leftover
(3) 15 packages with some leftover
(4) 19 packages with some leftover
(5} 20 packages with some leftover




